Name: MV”/})‘%L/«(Q{

Chapter 9 Practice Test

Find the product. "
Ix +2x -F i ? .9 |
1. (x* +3) (x* +6) 2.474@:112\_) 3.(x*=7) G+ 2x* + 3)
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4. ~_L_mz 9m + 1) 5. (6x—5) (4x +3) 6. (11m - 9n)(2m 5n)

2Ln?* -F3ma +45, 2

E’ZLIXZ-‘Zx -151

Solve.

8. Find the area of the SHADED region.

Az bh A=s?
Az x(«+0) A=4%
4 = X2 +U<

9. Greg intends to place a 300 square foot pool in his back yard. If the width of the pool is
5 ft shorter than the Iength what are the dimensions of the pool?

bs | ] dusymo =20
L’*/*"““ Lj’ -S54-200= O £ 20 £+ /7
Solve by factoring. (4-20\Ci+15)= 0 2”4 f{ 20y
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Simplify. ()= 33[{’)7(,3,%152 { 731"!
O= (F4+13 (34+2)
7qé;+ 4q 12) - (4q@+ 3q-14) 15.‘53(2x62 “6x + 4) +1- 8X +5)




Name:

Factor.
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16. 6x2y+15xy2 [ﬁ(\ x*m\‘\] 17( 8x> 4x2)+(6x 3>

4 — He( m- \/uzﬂw\
18, (2 10aX—3a +15a) (6-5)(2:% 30)  19.¢"- 625 (( 225
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20. 3x¢-768x" L=
'\Mu" zau\ﬁx (I (#16)_ /("x 1) (4x116
22. mt-m—6 | 2% (+4)lx- q)(ﬂu@ﬁ]
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Label.
24. Name the polynomial by degree and term. a.x’+6 b. 4x* -6x + 12
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Find the zeros of the function. 1 - \
25. f{x)=x*+3x—28 26. f(x)=t*—400
(x+ F Y x-4 \ UL'ZC)(—& +20>
A U:MZ
Solve. : ,

27. Find the dimensions of the triangle that has the given area.

Area: 2.5 square centimeters A = —% bh
Ve P [ ,A ’_' \)C hn \
(2x — 3) cm Z-U 6(2)“”’3 ZX ) .y e
(2x + 1) cm 2 Z&z-?_x' -5
= 2x? 2% -y ><Z/
2(x2- x ZB
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28. You made a 'square card to send to acfnencf(“ Tﬁe card did not fit in the envelope so
you had to trim the card. You trimmed 4 inches from the length and 5 inches from

the width. The area of the resulting card is 20 square inches.

a. What were the original dimensions for the card?! %49 l
b. What was the perimeter of the original card? /2, ;M,WW
c. What is the difference in the areas of the original and trimmed cards? &/ -20

2o—tirbes) 20=(54)(85) / : ,
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